H & 0l & AHS B Ml A

024E 5 20ilaF LEra ) 2+t
M 22
Hu: pEsel |4
el HOR2EXH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2ttt 21,540,547 29,799,338 A\8,258,791
= 1,872,000
Jl 500,000
= 8,691,000
Al 10,477,547
oY =54 18,147,237 26,774,329 N\8,627,092
= 1,872,000
) 500,000
= 8,675,000
Al 7,100,237
HOt2Z Y 1,025,780 1,000,000 25,780
Jl 500,000
Al 525,780
AOIEZE Al ZEAY 1,000,000 1,000,000 0
) 500,000
Al 500,000
201 fer= 3| 147,000 147,000
01 At 2|l 75,000 75,000
OADEZE Al 23 2cl 75,000
U ZESA Al & ARS
700,000 x40 2+ 1200 2 33,600
S TH= 2 S MR 21,400
AOIEZE A D3 2 20,000
02 s3=gHl 72,000 0 72,000
OANIEHE A 332 72,000
ANERL HDIRsS
2,500,000~ & 22,500
- 2cRE AL 018E
5,500,000« & 49,500
202 04| 3,000 3,000
01 2LHA b 3,000 3,000
OANEZZ Al 28 =UHEE 0bl
75,0002 x2E =23 x 1004 3,000
307 elztol & 850,000 1,000,000 A150,000
Il 500,000
Al 350,000
02 2B YAIHE X 850,000 1,000,000 150,000
OAOIEZZ Al i & NE3s 29 850,000
) 500,000
Al 360,000
HOt2ZEE 2435t 25,780 25,780
201 et 3| 21,000 21,000
01 At22t2l] 3,000 3,000
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Hu: pEsel |4
ol HIOR2EEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ottt xrd AIREE1Y S 3,000
2 s5=34l 18,000 0 18,000
OYAIEN & HEAIE B5R= 18,000
202 04| 1,280 1,280
01 2LHAH| 1,280 1,280
OHIO22AE gRFA 1,280
203 gF=4| 3,500 3,500
03 A=A =T 3,500 3,500
OHIDI2Z2 S AIMFA 3,500
ST e 17,121,457 25,774,329 A\8,652,872
= 1,872,000
< 8,675,000
Al 6,574,457
Aelat sletd IRt 1,200,000 2,654,375 1,454,375
201 el 35,500 5,000 30,500
01 At2t2ltl 35,500 5,000 30,500
Ottt zletd 2EAAE AIHAIY Xt
JIX EXI Xt 1,000,000 *22 X 2,000
OLE Zetd 2EAAE AIBAE Xt
XX AN HSEIS LA =2
29,500,000& * 14 29,500
Ozled HIIEX AE&ds & IE2RE
3l 4,000
202 04l 4,500 4,500
01 SLHoIH 4,500 4,500
Ozlatd MIIEat 28 =W & 0|
62,5002 2 +32]« 1204 = 4,500
401 AIZHIX S0HH 1,160,000 2,644,875 A 1,484,875
01 AlZH| 1,150,388 2,635,875 1,485,487
Ol g e 2EAAE AIHAIY JIet
ANE ZEBA 1,150,388
03 Al 20HHI 9,612 9,000 612
Ottt g zld 2EAAE AIHAIY Jlet
A4 ZHIA 9,612
HRALSENE 110,000 3,436,002 23,326,002
401 AlEHIZ S 0HbI 110,000 3,386,002 A3,276,002
01 Al&H| 110,000 3,374,173 A3,264,173
OEd 2BANE FAEF-AL 70,000
O=2F FHIAL (=204 40,000
A T2 (X2l AHA) 337,457 206,100 131,357
308 AFAIEHMSOIH 337,457 206,100 131,357
07 AX 2L FE= 337,457 206,100 131,357
OXlc|atd 2200 AL 337,457
- KelAHA 22O R 23l 17,807
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Hu: pEsel |4
el 2 R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot 22 SSAA AL 319,650
-S8(8 & SoAY 2te 16,000
-Aelard 223F 23t 18,000
-Xelatd A2 430 25,000
-Aeldtd 2245 82 30,000
-Aeldtd E20018 HA 80,000
-AeldtsEdlzd FAl2el 180,650
NM2xt CHE2ZX S4 1,080,000 1,780,000 A700,000
== 1,000,000
Al 80,000
307 212+01& 480,000 380,000 100,000
< 400,000
Al 80,000
02 LB HAHE L 480,000 380,000 100,000
O&E B 0|HE(54]) 480,000
= 400,000
Al 80,000
401 AIEHIX 20 600,000 1,400,000 800,000
=S 600,000
01 Al&H| 536,220 1,394,960 AT798,740
OUNREB| B2ET T&, AT X
A 600,000,000 *99.37% 596,220
= 596,220
03 A2 CHYI 3,780 5,040 1,260
ONH=ETIoh| eS8 X £d, AMEEA £
A 600,000,000& *0.63% 3,780
= 3,780
HEZ2E G222 (XtH=2) 2,592,000 3,358,000 A766,000
s 796,000
== 1,000,000
Al 796,000
401 AIEHIZ SR 0HYI 2,592,000 3,358,000 AT766,000
= 796,000
= 1,000,000
Al 796,000
01 AlZ2H| 2,592,000 3,358,000 AT766,000
OEc0IETIXE SAHI 2,072,000
[ 536,000
= 1,000,000
Al 536,000
OZCOIELA0ICINHOIEEZ AL S M = 520,000
[ 260,000
Al 260,000
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Hu: pEsel |4
el 2 R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEZ2E A2 (B4) 2,152,000 1,677,000 475,000
= 1,076,000
Al 1,076,000
307 el2to| & 2,152,000 1,677,000 475,000
= 1,076,000
Al 1,076,000
02 QIZtEHAEE X 2,152,000 1,677,000 475,000
O=AAIY & 2ACI2SAY 2E 2,152,000
[ 1,076,000
Al 1,076,000
2 =2 MEAIE ZEMS(HEAY) 1,150,000 1,000,000 150,000
& 575,000
Al 575,000
401 Al HIZL 201 1,150,000 1,000,000 150,000
= 575,000
Al 575,000
01 Al&H| 1,150,000 1,000,000 150,000
OE e SHEANLLESA 1,150,000
= 575,000
Al 575,000
8te |SAAX CIXIZHIOHIE ZEAMS(HEAY) 1,100,000 200,000 900,000
[ 550,000
Al 550,000
401 Al HIZL 201 1,100,000 200,000 900,000
== 550,000
Al 550,000
01 Al&HI 1,095,930 200,000 895,930
Oge=2 X UXNE HIOHIE SdA 1,095,930
= 550,000
Al 545,930
03 AlESTHYI 4,070 0 4,070
Ogue=aXl UXE HOHEE Z=8AH 4,070
SO OtE%e| ZHAIE(OIZE, 0210|224 (M & 7,400,000 0 7,400,000
2)
= 5,550,000
Al 1,850,000
401 Al HIZ 2018 7,400,000 0 7,400,000
= 5,550,000
Al 1,850,000
01 AlZH| 7,381,500 0 7,381,500
OBt OtEYR] ZHAF(IIZHE, 013t
olez) 7,400,000,0002& %99.75% 7,381,500
s 5,550,000
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el 2 R EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Al 1,831,500
03 Al = THHI 18,500 0 18,500
O OtEZe| =&AIE(II=#HE, O3t
orgat) 7,400,000,000& *0.25% 18,500
XS =H |4 3,338,610 2,971,109 367,501
= 16,000
Al 3,322,610
SEH| 2,128,680 1,809,220 319,460
NSEHE SSH0=HM K& 1,878,680 409,220 1,469,460
201 =3 684,480 54,220 630,260
01 A2t 218,540 51,640 166,900
OHMAS| Z&H SALA SAH(HEH) 12,000
ONAz =ethl =238 S &% 50,000
ONI9A2l Z=eHMl WHASAHA S4i| 12,000
ONSAzl &Ml ESHERA2] 22 F4
=g 70,000 *30H+72] 14,700
OdgAl g 2LIZ 7Y 4,000
ON%4zl =Ml SADISS 4, M S 20,000
ESM =8 =2¢ 5,840
ARES SZ38Hl S
120,000 1290 & 1,440
-E0| gRE 60,0002 * 1204 & 720
2AHINE =2 165,000 * 1294 & 1,980
HERAHI(EER2 S) 1,700
ORI%E| ZEH(ARIEN, MEHA 100,000
02 E32g4l 5,940 2,580 3,360
o882 840
&= 20,0002 «12JH 2 240
S| 50,0003 * 12043 600
OAZ &l |RXI2=H|
1,500,00021%14] 1,500
OR0IAHIBY 248
300,000 1200 & 3,600
03 A2 I 460,000 0 460,000
ON94al ZEH(OIEA, SHM=, ZHIES) 460,000
202 OH| 5,000 5,000
01 2L AL 5,000 5,000
OXSHESHM=M 2R 2,000
O& &I ¢IXI0H 3,000
207 AR 22,000 22,000
01 2SI 22,000 22,000
ORNI%42l =Ml Eot & gl gy 22,000
307 212t01d 107,200 100,000 7,200




SN 2B
33 g =M 54
o9l ES (sl &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 107,200 100,000 7,200
OFEH Aldlstarstitg 100,000
ORN%A2 ZSM ESAY R U2 3,200
ON9Asl =& Ml ESAE JtEEE 2| 4,000
401 AIEHIH uf 1,060,000 250,000 810,000
01 Al&HI 560,000 250,000 310,000
OMN9s| Z&HH JIBtAIE RE(HD], =&,
=g 8) 560,000
04 A2 S AIZH] 500,000 0 500,000
ORNl%=al =M SFUHEX 9 250,000
ORN%el =M s2u FugX| 250,000
NAHE 0= X(EX)(HEAY) 250,000 1,400,000 A1,150,000
307 @I2t01 & 250,000 1,400,000 A1,150,000
04 QIZHHAIAIH E X 250,000 1,400,000 A1,150,000
ON9Az| =Xl 250,000
NSt SHM=MAA 250,000
SN0l EXH X 1,209,930 1,161,889 48,041
= 16,000
Al 1,193,930
U HE =H 5,000 5,000
307 gl2to| & 5,000 5,000
04 QIRHHAMAIH 2 £ 5,000 5,000
ORNlzel dsXgdy 830d H2 =AH 5,000
D24 o=kl 20,000 15,000 5,000
307 212+01& 20,000 15,000 5,000
04 QIZHHAIAIH E X 20,000 15,000 5,000
ORMI6al Xiclat WAFE 124 k==Xl 20,000
HieisS =X 15,000 15,000 0
307 212t01d 15,000 15,000 0
04 CIZHHAMAMH 2 & 15,000 15,000
ON282l Xclat 2sHidis E2EH 15,000
Al 882 25 =Ml 10,000 10,000
307 @120l & 10,000 10,000
04 QIHHAMAIH 2 £ 10,000 10,000
OMNzgl Xeldt 7= 2 =X 10,000
Xlelah eHEH 8,000 10,000 A2,000
307 212+01& 8,000 10,000 A2,000
04 QIZHHAIAIH E X 8,000 10,000 22,000
ORMI4523] XclatEBAtE HEEN 8,000
Hieis A= =X 20,000 20,000
307 elzto| & 20,000 20,000
04 CIZHHAMAMH 2 & 20,000 20,000
— 6 —
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B X2t =K S
el siRe =M K& EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
| Onleal Xelat gaibile HE=H 20,000
S5 362,050 433,550 AT1,500
201 Ler2 3| 44,050 38,550 5,500
01 Al22tefsl 34,050 25,050 9,000
ORIRs| ELHAAIAS slolasse 8,050
ORMI32s| S2H SAK SAHI(HHE) 8,000
ORIsl E2H D21 EAK 24 4,000
ORIXE S2H TAE, 2B HX 10,000
ONiz2s) SRH HANHE SUZ 2 4,000
03 #Ar=EHI 10,000 13,500 23,500
O&% L= &H 10,000
307 @I2t0| & 263,000 330,000 267,000
02 QI B A E A 23,000 30,000 A7,000
O204d E92 HREtAANS 20,000
OM2s| ESH A= 3,000
04 2IZHUATAIS 2 & 240,000 300,000 60,000
ORMI32el &M 240,000
401 Al2HIL=0HBI 55,000 65,000 10,000
04 SHARZIHAIZHI 55,000 0 55,000
OZ= Lis ZE JIBAIEBA(RD], 45) 15,000
Onmigzel =M FUHEX 24 40,000
FMoIE 24 & X& 609,880 558,339 51,541
201 Ler2aY| 562,880 484,880 68,000
01 At 2teltl 7,880 2,880 5,000
ONAZHSLANS| 319 HA4E 980
O=H EAK 24| (HRR) 5,000
O=HE APEE 7 1,900
2 s3234l 84,000 0 84,000
O=X XY RX22/H) 84,000
03 L2 b 461,000 482,000 21,000
Owel or2| =x 72,000
o2 22 25 99,000
O2& DILIO0IE ¥ =1 290,000
202 0t 1,000 1,000
01 =LH04H 1,000 1,000
OAAREM g0t & NE=HS 1,000
401 AIE2HIX S CHYI 56,000 70,000 214,000
01 AlZHI 36,000 35,000 1,000
O=HN 229 J|gh 2 4H| 36,000
04 A2 AIZH] 20,000 35,000 15,000
Ourel orziel ZH JIBAEBARD] +& 20,000
INZIHEX 2= 40,000 0 40,000
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